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Instructions 
· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be used.

· If your calculator does not have a π button, take the value of π to be 
3.142 unless the question instructs otherwise.

Information

· The total mark for this paper is 100 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

· Questions labelled with an asterisk (*) are ones where the quality of your 
written communication will be assessed.

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Suggested Grade Boundaries (for guidance only)

	A*
	A
	B
	C
	D

	84
	63
	42
	23
	10


GCSE Mathematics 1MA0

Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.

Volume of prism = area of cross section × length
Area of trapezium = 
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(a + b)h
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Volume of sphere 
[image: image5.wmf]4

3

πr3 
Volume of cone 
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πr2h

Surface area of sphere = 4πr2 
Curved surface area of cone = πrl
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In any triangle ABC 
The Quadratic Equation



The solutions of ax2+ bx + c = 0



where a ≠ 0, are given by



x = 
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Sine Rule  
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Cosine Rule  a2 = b2+ c2– 2bc cos A

Area of triangle = 
[image: image11.wmf]1
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ab sin C

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
1. 
Here is a cuboid.
[image: image12.emf]
The cuboid is 6 cm by 1.5 cm by 1.5 cm.

Work out the total surface area of the cuboid.
..........................................cm2
(Total 3 marks)

___________________________________________________________________________

2. 
(a)
Use your calculator to work out the value of 
[image: image13.wmf]73
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Write down all the digits from your calculator.

Give your answer as a decimal.

..........................................

(2)

(b)
Write your answer to part (a) correct to 1 significant figure.

..........................................

(1)

 (Total 3 marks)

___________________________________________________________________________

3. 
Gary wants to find out how much time teenagers spend listening to music.

He uses this question on a questionnaire.

[image: image14.emf]
(a) 
Write down two things wrong with this question.


1 ............................................................................................................................................


...............................................................................................................................................

2 ............................................................................................................................................


...............................................................................................................................................
 (2)

(b) 
Design a better question for Gary’s questionnaire to find out how much time teenagers spend listening to music.

(2)

(Total 4 marks)

___________________________________________________________________________

4.
[image: image15.emf]
(a)
On the grid, reflect shape A in the line y = x.
(2)

[image: image16.emf]
(b)
Describe fully the single transformation that maps triangle B onto triangle C.
......................................................................................................................................................

......................................................................................................................................................

(2)

(Total 4 marks)

___________________________________________________________________________

5. 
Melissa is 13 years old.

Becky is 12 years old.

Daniel is 10 years old.

Melissa, Becky and Daniel share £28 in the ratio of their ages.

Becky gives a third of her share to her mother.

How much should Becky now have?

£ ..................................

 (Total 4 marks)

___________________________________________________________________________

*6.

[image: image17.emf]
ABCD is a parallelogram.

Angle ADB = 38(.

Angle BEC = 41(.

Angle DAB = 120(.

Calculate the size of angle x.

You must give reasons for your answer.

(Total 4 marks)

___________________________________________________________________________

7. 
[image: image18.emf]
PQR is a right-angled triangle.

PQ = 16 cm.

PR = 8 cm.

Calculate the length of QR.

Give your answer correct to 2 decimal places.
............................... cm
(Total 3 marks)
___________________________________________________________________________

8. 
(a) 
n is an integer.



–1 ( n < 4


List the possible values of n.

...........................................................................................

(2)

(b)

[image: image19.emf]

Write down the inequality shown in the diagram.

..............................................

(2)

(c) 
Solve 3y – 2 > 5

..............................................

(2)

(Total 6 marks)

___________________________________________________________________________

9.

[image: image20.emf]
Work out the total surface area of the triangular prism.

.........................................
(Total 4 marks)
___________________________________________________________________________

10. 
The temperature (T °C) at noon at a seaside resort was recorded for a period of 60 days.

The table shows some of this information.

	Temperature (T °C)
	Number of days

	10 < T ( 14
	2

	14 < T ( 18
	8

	18 < T ( 22
	14

	22 < T ( 26
	23

	26 < T ( 30
	9

	30 < T ( 34
	4


Calculate an estimate for the mean temperature at noon during these 60 days.

Give your answer correct to 3 significant figures.

.................................°C
(Total 4 marks)

___________________________________________________________________________

11. 
Bianca asked 32 women about the number of children they each had.

The table shows information about her results.

	Number of children
	Frequency
	

	0
	9
	

	1
	6
	

	2
	7
	

	3
	8
	

	4
	2
	

	more than 4
	0
	


(a) 
Find the mode.

.................................

(1)

(b) 
Calculate the mean.

......................................

(3)
(Total 4 marks)
___________________________________________________________________________

12. 
The equation

x3 + 5x = 67

has a solution between 3 and 4

Use a trial and improvement method to find this solution.

Give your answer correct to one decimal place.

You must show ALL your working.

x = ...........................................

(Total 4 marks)
___________________________________________________________________________

13. 
ABCD is a trapezium.
[image: image21.emf]
Work out the area of the trapezium.

............................... m2
(Total 2 marks)

___________________________________________________________________________

15. 
(a)
Complete the table of values for y = x2 – 2x.
	x
	–2
	–1
	0
	1
	2
	3
	4

	y
	
	3
	0
	
	
	3
	


(2)

(b)
On the grid, draw the graph of y = x2 – 2x for values of x from –2 to 4.
[image: image22.emf]
(2)

(c)
Solve
x2 – 2x – 2 = 1
..........................................
(2)

(Total for Question 15 is 6 marks)

___________________________________________________________________________

*16. 

[image: image23.emf]
S and T are points on the circumference of a circle, centre O.

PT is a tangent to the circle.

SOP is a straight line.

Angle OPT = 32°.
Work out the size of the angle marked x.

Give reasons for your answer.
..............................................°
(Total 5 marks)

___________________________________________________________________________

17. 
Make A the subject of the formula
r = 
[image: image24.wmf]3

A


A = ..............................

(Total 2 marks)
___________________________________________________________________________

18. 
Here are the times, in seconds, that 15 people waited to be served at Rose’s garden centre.


5
9
11
14
15
20
22
25
27
27
28
30
32
35
44

(a) 
On the grid, draw a box plot for this information.
[image: image25.emf]
(3)

The box plot below shows the distribution of the times that people waited to be served at Green’s garden centre.
[image: image26.emf]
(b) 
Compare the distribution of the times that people waited at Rose’s garden centre and the distribution of the times that people waited at Green’s garden centre.

…...........................................................................................................................................


…...........................................................................................................................................

…...........................................................................................................................................

…...........................................................................................................................................

(2)

(Total 5 marks)

___________________________________________________________________________

19.
Here is a cuboid drawn on a 3-D grid.

[image: image27.emf]
P is a vertex of the cuboid.

T divides the line OP in the ratio 1: 2.

Find the coordinates of T.

(...................... ,  ...................... ,  ......................)

(Total 2 marks)

___________________________________________________________________________

20. 
Simplify


[image: image28.wmf]2
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 + 
[image: image29.wmf]3
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+

x


..............................................

(Total 3 marks)

___________________________________________________________________________
21. 
(a)
Factorise
4x2 – 9
..........................................

(1)

(b)
Make m the subject of
g – 3m = am + 5
..........................................

(3)

(Total 4 marks)

___________________________________________________________________________

22. 
Solve 3x2 – 4x – 2 = 0

Give your solutions correct to 3 significant figures.

.................................................................................

(Total 3 marks)

___________________________________________________________________________
23. 
The diagram below shows a large rectangle of length (2x + 6) cm and width x cm.

A smaller rectangle of length x cm and width 3 cm is cut out and removed.
[image: image30.emf]
The area of the shape that is left is 100 cm2.

(a) 
Show that 

2x2 + 3x − 100 = 0
(3)

(b) 
Calculate the length of the smaller rectangle.


Give your answer correct to 3 significant figures.

............................................ cm

(4)

(Total 7 marks)
___________________________________________________________________________

24. 
The diagram shows a solid hemisphere of radius 8 cm.
[image: image31.emf]
Work out the total surface area of the hemisphere.

Give your answer correct to 3 significant figures.

............................. cm2
(Total 3 marks)
___________________________________________________________________________

*25.
A and B are straight lines.
Line A has equation 2y = 3x + 8.

Line B goes through the points (–1, 2) and (2, 8).

Do lines A and B intersect?

You must show all your working.
(Total 3 marks)

___________________________________________________________________________
(TOTAL FOR PAPER: 100 MARKS)

	1
	
	
	40.5
	3
	M1 for 1.5×6 or 1.5 ×1.5

M1 for adding area of 5 or 6 faces provided at least 3 are the correct area

A1 cao




[image: image32.emf]
	3
	(a)
	
	Overlapping boxes

Not exhaustive

No time period stated


	2
	1st aspect : no time frame

2nd aspect : overlapping boxes

3rd aspect : not exhaustive boxes ie. no < 1

B2 for 2 aspects

(B1 for 1 aspect)


	
	(b)
	
	Example: “How many hours a day do you listen to music”

0 to3, over 3 to 5, over 5


	2
	1st aspect : question including time frame and units (or question and time frame in response boxes)

2nd aspect : at least 3 boxes – all non-overlapping with discrete values or a range; need not be inclusive of all or a set of at least 3 boxes which are exhaustive for all integer numbers of hours (but which may overlap)

NB : Do not accept the use of inequalities with response boxes 

B2 for 2 aspects

(B1 for 1 aspect)




	4
	(a)
	
	Correct shape


	2
	B2 cao

(B1 for shape in the correct orientation below the line y = x or for 2 vertices correct) with vertices at (2, 1), (4, 1), (4, 0), (3, 0)



	
	(b)
	
	Translation by 
[image: image33.wmf]4
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	2
	B1 for translation

B1 for 
[image: image34.wmf]4
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NB: B0 if more than one transformation given




	5
	
	2800 ÷ (13 + 12 + 10) = 80p / share

80 × 12 = 960

960 
[image: image35.wmf]3

2

´


	6.40
	4
	M1 for 2800 ÷ (13 + 12 + 10) (=80) or 28 ÷ (13 + 12 + 10) (=0.8) or 80 or 0.8 or 10.4(0) or 1040 or 8 or 800 or 
[image: image36.wmf]35

13

 or 
[image: image37.wmf]35

12

  or 
[image: image38.wmf]35

10

 oe seen 

M1 for ‘80’ × 12(=960) or‘0.80’ × 12(=9.6(0)) or 
[image: image39.wmf]35

12

×2800 or 
[image: image40.wmf]35

12

×28

M1 (indept) for  
[image: image41.wmf]3

2

´

 oe

A1 for £6.40 or 640 pence [accept 6.4]




	6
	
	Angle DEC =  180 – 41 =139

Angles on a straight line sum to 180o
Angle EDC = 60 – 38 or 

 Angle ABD = 180 – 120 – 38 (=22)

Co-interior/allied angles of parallel lines sum to 180o or
Angles in a triangle sum to 180o and Alternate angles
 x = )180 – '139' – '22' (=19)

Angles in a triangle sum to 180o
OR

Angle ADC = 180o – 120o = 60o 


Co-interior/allied angles of parallel lines sum to 180o Angle EDC = 22o
Angle ECD = 41o –  22o = 19o            

Exterior angle of triangle equals sum of the two opposite interior angles

OR

Angle DBC = 38o
Alternate angles
Angle BCE = 101o
Angle sum of a triangle is 180o
Angle BCD = 120o
Opposite angles of a parallelogram are equal
Angle ECD = 120o – 101o = 19o

	x = 19o and reasons


	4


	M1 for DBC = 38o or
ADC = 60o(can be implied by BDC = 22o) or ABC = 60o or 

DCB = 120o or 

(ABD =) 180  – 120  –38 (=22)

M1 for (BDC =) 60 − 38 (=22) or

 BDC = '22' or

(DEC =) 180 − 41 (=139) or

(BCE =) 180 −41 − 38 (=101)

M1 (dep on both previous M1)  for complete correct method to find x or 

(x = ) 19 

C1   for  x = 19o      AND
Co-interior/allied angles of parallel lines sum to 180o 

or

Opposite angles of a parallelogram are equal
or

Alternate angles 

                                AND

Angles on a straight line sum to 180o
or
Angles in a triangle sum to 180o
or
Exterior angle of triangle equals sum of the two opposite interior angles
or

Angles in a quadrilateral sum to 360o


	7
	
	16² – 8² = 192


[image: image42.wmf]192

= 13.85640646
	13.86


	3
	M1 for showing the intention to square and subtract or sight of 16² – 8² or 192

M1 for 
[image: image43.wmf]64

256

-

 or 
[image: image44.wmf]192

 or 
[image: image45.wmf]3

8


A1 for answer in range 13.85 to 13.86




	8
	(a)
	
	–1, 0, 1, 2, 3
	2
	B2    for all 5 correct values; ignore repeats, any order

(B1 for 4 correct (and no incorrect values) eg. 0, 1, 2, 3 or one additional value, eg –1, 0, 1, 2, 3, 4)



	
	(b)
	
	
[image: image46.wmf]43

x
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	2
	B2   for − 4 < x ≤ 3 or > − 4 and  ≤ 3

(B1   for − 4 < x    or   x > − 4    or x ≤ 3    or 3 ≥ x    

          or     > − 4    or    ≤ 3    or    − 4 ≤ x < 3)

NB : Accept the use of any letter

	
	(c)
	3y − 2 > 5

3y > 7
	
[image: image47.wmf]7
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	2
	M1   for clear intention to add 2 to both sides (of inequality or equation) or clear intention to divide all three terms by 3 

 or 3y > 7 or 3y < 7 or 3y = 7 

A1    
[image: image48.wmf]7

3

y

>

 or y > 
[image: image49.wmf]1
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 or  y > 
[image: image50.wmf]2.3
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	9
	
	 ½(8 ( 15) (2  + (17 ( 10)  

+  (15 ( 10)  +   (8 ( 10)  

= 60  + 60 + 170 + 150 + 80
	520

cm2
	4
	M1 a correct expression for area of one face 

M1 for five area expressions added (at least three correct)

A1 cao

NB: if volume calculated then no marks

B1 (indep)   for   cm2




	10
	
	(12×2 + 16×8 +20×14 +24×23 +28×9 +32×4) ÷ 60 = 

(24 + 128 + 280 + 552 + 252 + 128)÷60 =

1364 ÷ 60
	22.7
	4
	M1 for fx consistently within intervals including the ends (allow 1 error)

M1 (dep) for use of all correct mid-interval values (allow 12 – 12.5 etc)

M1 (dep on 1st M1) for 
[image: image52.wmf]å
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A1 for 22.7 – 23.23…




	11
	(a)
	
	0


	1


	B1 cao

 

	
	(b)
	(0 + 6 + 14 + 24 + 8) ÷ 32

= 52 ÷ 32  =  1.625
	1.625
	3
	M1 for   multiplying f ( x (at least 3 correct)

M1 (dep) for
[image: image53.wmf]å

fx

 ÷ 
[image: image54.wmf]f

å

   

A1 for 1.625,  1.62, 1.63, 1.6 
[image: image55.wmf]8
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	12
	
	x
x3 + 5x
3

42

3.4

56.(304

3.5

60.(375

3.6

64.(656

3.7

69.(153

3.8

73.(872

3.9

78.(819

4

84

3.65

66.8(77

3.66

67.3(27

3.67

67.7(80

3.68

68.2(36

3.69

68.6(93


	3.7
	4
	B2 for a trial between 3 and 4 exclusive

(B1 for a trial between 3 and 4 inclusive)

B1 for a different trial of 3.65 [image: image57.png]


 x [image: image59.png]


 3.7

B1 (dep on at least one previous B1) for 3.7

NB Trials should be evaluated to at least 

2 s.f truncated or rounded for values of x correct to 1 dp.  Trials should be evaluated to at least 1 dp for values of x correct to 2 dp truncated or rounded.

No working scores 0 marks




	13
	
	½ (6 + 12) × 8
	72
	2
	M1 for ½ × (6 + 12) × 8 or complete method to find the area eg 8 × 6 + ½ × 8 × “12 – 6”

 or 12 × 8 – ½ × 8 × “12 – 6” or 48 + 24 or 96 - 24

A1 cao




	14
	(a)
	p2 – 4p + 9p – 36
	p2 + 5p – 36
	2
	M1 for all 4 terms correct (condone incorrect signs) or 3 out of 4 terms correct with correct signs

A1 cao



	
	(b)
	5w – 8 = 3(4w + 2)

5w – 8 = 12w + 6

–8 – 6 = 12w – 5w
–14 = 7w

	–2
	3
	M1 for attempting to multiply both sides by 3 as a first step (this can be implied by equations of the form 

 5w – 8 = 12w + ? or 5w – 8 = ?w + 6 i.e. the LHS must be correct

M1 for isolating terms in w and the number terms correctly from aw + b = cw + d
A1 cao

OR

M1 for 
[image: image60.wmf]3
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w

= 4w + 2

M1 for isolating terms in w and the number terms correctly

A1 cao



	
	(c)
	
	(x + 7)(x – 7)
	1
	B1 cao



	
	(d)
	
	
[image: image61.wmf]2
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	2
	B2 for 
[image: image62.wmf]2
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or 
[image: image63.wmf]5
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(B1 for any two terms correct in a product eg. 3x4yn )




	15


	(a)
	
	-2  -1   0   1   2   3   4

8   3   0   -1   0   3   8
	2


	B2 for 8, -1, 0, 8

(B1 for at least two of 8, -1, 0, 8)

	       
	(b)
	
	Correct curve
	2
	M1 (ft) for at least 5 points plotted correctly

A1 for a fully correct curve



	     
	(c)
	x2 – 2x – 3 = 0 OR

(x − 3)(x + 1) = 0
	3 and −1
	2
	M1 for the straight line y = 3 drawn to intersect the “graph” from (a)

A1 for both solutions

OR

M1 for identifying y = 3 from the table

A1 for both solutions

OR

M1 for (x ± 3)(x ± 1)

A1 for both solutions




	*16
	
	Angle POT = 180 – 90 – 32 = 58

(angle between radius and tangent = 90o and sum of angles in a triangle = 180o)

Angle OST =angle OTS = 58÷2

(ext angle of a triangle equal to sum of int opp angles and base angles of an isos triangle are equal) or (angle at centre = 2x angle at circumference)

OR

Angle SOT =  90 + 32 = 122

(ext angle of a triangle equal to sum of int opp angles)
(180 – 122)  ÷ 2  (base angles of an isos triangle are equal)
	29
	5
	B1 for angle OTP = 90o, quoted or shown on the diagram

M1 for a method that leads to 180 – ( 90 + 32) or 58 shown at TOP
M1 for completing the method leading to “58”÷2 or 29 shown at TSP
A1 cao

C1 for “angle between radius and tangent = 90o” and one other correct reason given from theory used

NB: C0 if inappropriate rules listed

OR

B1 for angle OTP = 90o, quoted or shown on the diagram

M1 for a method that leads to 122 shown at SOT
M1 for (180 – “122”)  ÷ 2  or 29 shown at TSP
A1 cao

C1 for “angle between radius and tangent = 90o” and one other correct reason given from theory used

NB: C0 if inappropriate rules listed




[image: image65.emf]
	18
	(a)
	minimum = 5

lower quartile = 14

median = 25

upper quartile = 30

maximum = 44
	box plot
	3
	B3 for fully correct box plot


(B2 for at least 3 correct values plotted including box and tails

or 5 correct values indicated)

(B1 for at least 2 correct values plotted including box or tails 

or 3 or 4 correct values indicated)



	
	(b)
	
	comparisons
	2
	B1 for a correct comparison (ft) of medians
B1 for a correct comparison (ft) of ranges or IQRs


	19
	
	
	(2, 1⅓, 1)
	2
	M1 for finding coordinates of P ( 6, 4, 3) or OT = ⅓ OP or 2 correct coordinate values

A1 oe




	20
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	3
	M1    Use of common denominator of 6 (or any

          other multiple of 6) and at least one

          numerator correct

         Eg. 
[image: image69.wmf]3(1)2(3)

or

66

xx
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M1    
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	21
	(a)
	
	(2x + 3)(2x − 3)
	1
	B1 cao



	
	(b)
	
	m =
[image: image71.wmf]5
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	3
	M1 for correct processes to isolate terms in m from other terms

M1 for taking m out as a common factor

A1 for m = 
[image: image72.wmf]5
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  or 
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	22
	
	a = 3, b = –4, c = –2

x = 
[image: image74.wmf](
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= 1.72075922
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= – 0.3874258867


	1.72, –0.387


	3
	M1 for 
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 (condone incorrect signs for –4 and –2)

M1 for 
[image: image78.wmf]6
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A1 for one answer in the range 1.72 to 1.721 

     and one answer in the range – 0.387 to – 0.38743




	23
	(a)
	x (2x + 6) ( 3x  = 100

2x2 + 6x ( 3x    = 100

2x2 + 3x ( 100  =  0


	Proof


	3


	M1 for a correct algebraic expression for the area of at least one rectangle 

eg  x (2x + 6) or 2x2+6x  or 3x oe 

M1 for a correct algebraic expression for the area of the unshaded region 

eg x(2x + 6) – 3x (= 100)

 or for eg x(2x+6)=100+3x

A1 for completion from eg 2x2 + 6x – 3x    (= 100) oe



	
	(b)
	a = 2      b = 3      c = (100

x  =  
[image: image80.wmf])
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    =   
[image: image81.wmf]4
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    =   6.36073…     or   (7.86073…

 
	6.36
	4
	M1 for correct substitution in formula allow sign errors in b and c
M1 for reduction to [image: image83.png]


 or [image: image85.png]3 4809




A1 for 6.36 to 6.365 or [image: image87.png]


7.86 to[image: image89.png]


7.865

A1 for 6.36 to 6.365 


	24
	
	3 × π × 82


	603
	3
	M1 for 
[image: image90.wmf]2

1

×4×π×82 oe (=402(.12…))

M1 (dep) for ‘402’ + π×82 or 192π
A1 for 603 – 603.23




	*25
	
	
	Yes with explanation
	3
	M1  For Line A:  writes equation as y = 1.5x + 4 or gives the gradient as 1.5 or constant term of 4 

OR for Line B: shows a method which could lead to finding the gradient or gives the gradient as 2 or constant term of 4 or calculates a sequence of points including (0,4) or writes equation of line as y = 2x + 4

M1  Shows correct aspects relating to an aspect of Line A and an aspect of Line B that enables some comparison to be made eg gradients, equations or points.

C1 for gradients 1.5 and 2 and Yes with explanation that the gradients are different or states the lines intersect at (0,4) or explanation that interprets common constant term (4) from equations




	Session
YYMM
	Question
	Mean score
	Max score
	Mean percentage
	ALL
	A*
	A
	%A
	B
	C
	%C
	D
	E

	1306
	Q01
	1.66
	3
	55
	1.66
	2.93
	2.75
	91.7
	2.23
	1.31
	43.7
	0.50
	0.18

	0911
	Q02
	1.96
	3
	65
	1.96
	2.89
	2.59
	86.3
	2.14
	1.72
	57.3
	1.35
	1.02

	1111
	Q03
	3.31
	4
	83
	3.31
	3.59
	3.61
	90.3
	3.57
	3.38
	84.5
	3.08
	2.78

	1411
	Q04
	1.74
	4
	44
	1.74
	3.74
	3.33
	83.3
	2.72
	2.01
	50.3
	1.23
	0.55

	1111
	Q05
	1.80
	4
	45
	1.80
	3.77
	3.38
	84.5
	2.75
	1.53
	38.3
	0.56
	0.23

	1211
	Q06
	1.60
	4
	40
	1.60
	3.56
	3.10
	77.5
	2.42
	1.47
	36.8
	0.61
	0.18

	1203
	Q07
	1.41
	3
	47
	1.41
	2.95
	2.65
	88.3
	1.90
	0.91
	30.3
	0.28
	0.11

	1211
	Q08
	2.93
	6
	49
	2.93
	5.64
	5.14
	85.7
	4.12
	2.76
	46.0
	1.53
	0.65

	1106
	Q09
	2.34
	4
	59
	2.34
	3.83
	3.32
	83.0
	2.48
	1.52
	38.0
	0.73
	0.38

	1111
	Q10
	1.57
	4
	39
	1.57
	3.86
	3.27
	81.8
	2.23
	1.22
	30.5
	0.55
	0.30

	1106
	Q11
	1.93
	4
	48
	1.93
	3.74
	2.93
	73.3
	1.87
	1.09
	27.3
	0.58
	0.31

	1106
	Q12
	2.87
	4
	72
	2.87
	3.77
	3.50
	87.5
	3.19
	2.52
	63.0
	0.89
	0.14

	1203
	Q13
	0.89
	2
	45
	0.89
	1.80
	1.53
	76.5
	1.18
	0.65
	32.5
	0.21
	0.08

	1206
	Q14
	3.27
	8
	41
	3.27
	7.26
	5.88
	73.5
	3.95
	1.78
	22.3
	0.61
	0.19

	1306
	Q15
	2.62
	6
	44
	2.62
	5.44
	4.17
	69.5
	2.94
	2.24
	37.3
	1.22
	0.36

	1306
	Q16
	2.18
	5
	44
	2.18
	4.43
	3.80
	76.0
	2.92
	1.62
	32.4
	0.53
	0.12

	1006
	Q17
	0.86
	2
	43
	0.86
	1.92
	1.52
	76.0
	0.77
	0.26
	13.0
	0.05
	0.02

	1303
	Q18
	2.21
	5
	44
	2.21
	4.08
	3.45
	69.0
	2.81
	2.04
	40.8
	1.26
	0.61

	1406
	Q19
	0.39
	2
	20
	0.39
	1.50
	0.96
	48.0
	0.41
	0.10
	5.0
	0.03
	0.01

	1211
	Q20
	0.49
	3
	16
	0.49
	2.36
	1.79
	59.7
	0.84
	0.19
	6.3
	0.03
	0.00

	1311
	Q21
	0.73
	4
	80
	0.73
	3.36
	2.03
	50.8
	0.79
	0.18
	4.5
	0.03
	0.00

	1206
	Q22
	0.51
	3
	17
	0.51
	2.25
	1.15
	38.3
	0.39
	0.08
	2.7
	0.01
	0.00

	1106
	Q23
	1.36
	7
	19
	1.36
	6.12
	2.62
	37.4
	0.48
	0.08
	1.1
	0.02
	0.01

	1111
	Q24
	0.55
	3
	18
	0.55
	2.47
	1.62
	54.0
	0.79
	0.23
	7.7
	0.05
	0.02

	1311
	Q25
	0.29
	3
	64
	0.29
	1.86
	0.83
	27.7
	0.21
	0.02
	0.7
	0.00
	0.00

	 
	 
	41.47
	100
	41
	41.47
	89.12
	70.92
	70.92
	50.10
	30.91
	30.91
	15.94
	8.25


Practice Paper – Gold 2





Gold: 2 of 4








37

_1414680354.unknown

_1491628968.unknown

_1493204690.unknown

_1493204691.unknown

_1493204595.unknown

_1493204596.unknown

_1493204594.unknown

_1434191099.unknown

_1434191113.unknown

_1434191085.unknown

_1414908253.unknown

_1305888906.unknown

_1338115605.unknown

_1305888844.unknown

